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Q2.

Q3.

Q4.

A can do a piece of work in 10 days and B
can do the same work in 20 days. With
the help of C, they finish the work in 5
days. How long will it take for C alone to
finish the work ?

(a) 20 days

(b) 10 days

(¢) 12 days

(d) 15 days

A can do a piece of work in 20 days. He
works at it for S days and then B finishes
itin 10 more days. In how many days will
A and B together finish the work ?

(a) 8 days
(b) 10 days
(¢) 12 days
(d) 6 days

A can do a piece of work in 15 days and B
can do the same work in 20 days. Both of
them start the work together but B leaves
after 2 days. In how many days the work
will be finished ?

(@) 10 (2/3) days

(b) 9 (2/3) days

(¢) 12 days

(d) None of these

A can do a piece of work in 25 days and B
can do the same work in 20 days. Both of
them start the work together but B leaves 2
days before the completion of the work. In
how many days the work will be finished ?
(@) 10 (2/9) days

(b) 9 (2/3) days
(c) 12 (2/9) days

(d) None of these
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Q5.

Qeé.

Q7.

Q8.
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Tl & X TehaT €, o Tt Ut S AR
g, AT A 2 &7 % og = Sig a1 99T B
Fd Ul BN % 3 T wea e A S AT e |
T e ferit A QT e 2 2

(@ 53
() 6f
(c) 7%
@ 8f=

Afrftwd st 10 feqi®, BsH 12 fei g =
Tehd ¥ 3 THAT BT URST T ¢ AT o
TehiaR faet # ohrel ot & | afg e B Uy el
&, Aot femer fomt o got g s ?

(@ 15fE
®) 1A
(c) 10 (5/6) e

(d) T 9 HE TE

ferelt =Tl @t U1 ¥ | WIS <At 31T W SRIAT
T AT A T AT T AT 8 | T S e
w1 feT § I o Tehd B | e ol O R B
Trefrer gr ferem e wHe fehemT & 2

(a) 6T
) 3fE
(c) 27
@ 4fE

3TrenTST, ferdeh | i AT HITE HRTR & R
gHfeTe foae | 60 fom 0 waa & el uur s
T W € | A Teh T S ol g feha femt o
I T Rl IR i 2

(@ 22% T+

») 1 T

) 15 f&a

@ 20 f&

Q5.

Qeé.

Q7.

Q8.

A can do a piece of work in 10 days, B in
12 days and C in 15 days. They all start
the work together, but A leaves after 2
days and B leaves 3 days before the work
is completeIn how many days is the work
completed ?

(a) 5 days

(b) 6 days

(c) 7 days

(d) 8 days

A can do a piece of work in 10 days, B can
do it in 12 days. They start the work
together but they work on alternate days.
In how many days the work will be
finished if B starts the work ?

(@) 15 days

(b) 11 days
(c) 10 (5/6) days
(d) None of these

Manish takes twice as much time as Anuj
and thrice as much as Vansh to finish a
piece of work. Together they finish the
work in 1 day. What is the time taken by
Manish to finish the work ?

(a) 6 days

(b) 3 days

(c) 2 days

(d) 4 days

Akash is thrice as good a workman as
Vivek and therefore is able to finish the
job in 60 days less than Vivek. In how
many days will they finish the job
working together ?

(a) 22 days

(b) 11 days
(c) 15 days

(d) 20 days
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Q9.

Q 10.

Q11.

Q 12.
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A EIA 3R B FeTeR ST bl C o W0 99T
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UPSCPT 2020
(a) 6
(b) 8
(c) 10
(d) 12

P, Q & 7 T[T ST & whrel &t €, Safeh P 3l
Q Tk |y fHeTeRt R | OR T[T dSil § Sid &
Had £ 19 P, Q 307 R T AT fRet sid WX
Tl ST B, A S S YTW 31T <hi fehed STuTa
T TS hIAT AT(ET ? UPSC PT 2017

(@) 3:1:1
() 3:2:4
(c) 4:3:4
(d 3:1:4

x 3TreHt feret shref it 30 Tt & T Y Weha
1t 6 oMY tfra g, at &g 10 e & e
T HHTE  HehdT o | SMEMHAT i ToT HE&AT
a2 ?

(a) 10
(b) 1
(c) 12
(d) 15

Q9.

Q 10.

Q11.

Q12.

A takes 5 days more than B to do a certain
job and 9 days more than C to do the same
A and B together can do the job in the
same time as How many days A would
take todoit?

(a) 16 days
(b) 10 days
(c) 15 days
(d) 9 days

A person X can complete 20% of work in 8
days and another person Y can complete
25% of the same work in 6 days. If they
work together, in how many days will 40%

of the work be completed? UPSC PT 2020

(a) 6
(b) 8
(¢c) 10
(d) 12

P works thrice as fast as Q, whereas P
and Q together can work four times as
fastas R.If P, Q and R together work on a
job, in what ratio should they share the
earnings ? UPSC PT 2017

(@) 3:1:1
() 3:2:4
(c) 4:3:4
(d 3:1:4

X number of men can finish a piece of
work in 30 days. If there were 6 men more,
the work could be finished in 10 days less.
What is the original number of men?

(@) 10
(b) 1
(c) 12
(d) 15

Time and Work
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Q13.

Q 14.

Q 15.

Q 16.

Teh SoaT 300 feai & 15 ferfit eisT @S &M Q 13. An engineer undertakes a project to
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UPSC PT 2013
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(@) 307%e
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(d) TTH Y HE

Q 14.

Q 15.

Q 16.

build a road 15 km long in 300 days and
employs 45 men for the purpose. After
100 days, he finds only 2.5 km of the road
has been completeFind the (approx.)
number of extra men he must employ to
finish the work in time.

(@) 43

(b) 45

(c) 55

(d) 68

15 men could finish a piece of work in 210
days. But at the end of 100 days, 15
additional men are employees. In how
many more days will the work be
completed ?
(a) 80 days
(b) 60 days
(¢c) 55 days
(d) 50 days

In a garrison, there was food for 1000

soldiers for one month. After 10 days,

1000 more soldiers joined the garrison.

How long would the soldiers be able to

carry on with the remaining food ?
UPSC PT 2013

(a) 25 days

(b) 20 days

(c) 15 days

(d) 10 days

There are two pipes in a tank. Pipe A is
for filling the tank and pipe B is for
emptying the tank. If A can fill the tank
in 10 hours and B can empty the tank in
15 hours then how many hours will it
take to completely fill a half empty tank ?

(@) 30 hours
(b) 15 hours
(¢) 20 hours
(d) None of these
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Q17. THTHUAATTAAA, BARCEIATH HIHAI: Q 17.

Q 18.

Q 19.

Q 20.

10 H2, 20 T 31 25 T H WX W & | T
T A Tt Uk W1y Wit S B 2 S &
TS, T C BT g X fEaT ST e 3 A 3R B &
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ATA ST |
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(c) 75%
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firTe atfires oTaT € @F A 3R B BT @
STETIT- 3T W W S 9T: fehe =T e o1 2
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() 10 THAe, 15 fime
(c) 20 fHe, 25fF e
(d) TTH Y HE T

Teh U1 8L UTEY i GorT § | A1 oSt /
T i SRt WAt ¢ | S ST urew firetent Eret
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3Thet Eaht sl WA U fehe =T THE 1T 2

(a) 17%121 e
(b) 1% 48 fie
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(d) 2124 fHe

afE 12 37TeHt 31F 16 T ford &1t ot 5 fe=t
T T 8, 37T 13 3SHT 317 24 TS 39 4
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(@) 1:2
(b) 1:3
(c) 21
(d) 31

Q 18.

Q 19.

Q 20.

There are three taps A,B and C in a tank.
They can fill the tank in 10 hrs, 20 hrs
and 25 hrs respectively. At first, all of
them are opened simultaneously. Then
after 2 hours, tap C is closed and A and B
are kept running. After the 4th hour, tap
B is also closed. The remaining work is
done by tap A alone. Find the percentage
of the work done by tap A by itself.

(@) 32%

(b) 52%

(c) 75%

(d) None of these

Pipe A and B running together can fill a
cistern in 6 min. If B takes 5 min more
than A to fill the cistern then the time in
which A and B will fill the cistern
separately will be respectively ?

(@) 15min, 20min

(b) 10min, 15min

(¢) 20min, 25min

(d) None of these

One pipe fills a water tank three times
faster than another pipe. If the two pipes
together can fill the empty tank in 36
min, then how much time will the slower
pipe alone take to fill the tank ?

(@) 1h21min

(b) 1h 48 min

(c) 2h

(d) 2h 24 min

If 12 men and 16 boys can do a piece of
work in 5 days, and 13 men and 24 boys
can do it in 4 days, compare the daily
work done by a man with that done by a
boy ?

(@) 1:2
) 13
(c) 21
(d) 31

Time and Work
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Q21. 3 mmmﬁéﬁﬁﬁ@wmﬁl 5 Q21. 3 men can complete a piece of work in 6

Q 22.

Q 23.

Q 24.
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Q 22.

Q 23.

Q 24.

days. S women can complete the same
work in 18 days. In how many days will 4
men and 10 women together complete the
same work ?

(a) 3 days

(b) 5 days

(c) 2 days

(d) 4 days

6 women and 6 men together can
complete a piece of work in 6 days. In
how many days can 15 men alone
complete the piece of work, if 9 women
alone can complete the work in 10 days ?
(a) 6 days

(b) 7.2 days

(¢) 5days

(d) None of these

48 men and 4 women together can complete
a piece of work in 6 days. Work done by a
man in one day is double the work done by
a woman in one day. If 8 men and 4 women
started working and after 2 days, 4 men
left and 4 new women joined, in how many
more days will the work be completed ?

(a) 5 days
(b) 8 days
(c) 6 days
(d) 4 days

A and B undertake to do a piece of work
for Rs. 100. A candoitin 5 days and B can
do it in 10 days. With the help of C, they
finish it in 2 days. How much C should be
paid for his contribution ?

(@) Rs.40
() Rs.20
(¢) Rs.60

(d) None of these
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Q 25.

Q 26.

Q 27.

Q 28.

Q 29.

T 3THT 3R T oTes &l TR A fpu ot Q 25.

o foTu 5 Toa1 o foT AoTglt & & H 800 FU
et | Tl & 39 STIEHt ot gerdT TSk | i AT
oft | Tk ot ferer Tt a2 ?

(@) 76%F

(b) 56T

() 44T

@ 40T

A, B 3R C ¥ 1800 TUF ST 3T ATl Ueh Ik
qfemiAve e, BRafmaica9 fem
i frm A s s aaT 5: 6 : 4 &
IFUTAHE, A A it feRa=T AT 21T ?

(@) 800 TG

(h) 600 TTH

(c) 900 9

@ 750 %0

31T TRt il oht 12 ToeiT o o HehaT & | 3197
3T Fordren = ek e shTel QT foharT 317 S shhT:
54 FU 3R 81 FUY T YA TehaT T2TI 5=
Teh AT ST AT ST § feha= fe e gl ?

(a) 47

b)) 4s5fE

) 48fF

(d) TTH Y HE T

A, B 3 C &I 575 T3 § Ueh T & & 10
FrfSa frar T 21 A 31K C R i &1 19/23
AT U | YN SO 2| B ot ket afvr =1
AT foRaT ST |

(@ 210%9

(b) 100 9

(c) 200%TqF

d) 47579

Teh et ToRelt ahrel AT 7/8 WITT 21 Tt & qur
AT & 1 A T 50% | ST & ST af S/ e
WA A Y R fRa e e ? uPSC PT 2021

(a) 24
() 21
(c) 18
(d) 15

Q 26.

Q 27.

Q 28.

Q 29.

A man and a boy received Rs. 800 as
wages for S days for the work they did
together. The man’s efficiency in the
work was three times that of the boy.
What are the daily wages of the boy ?

(a) Rs.76

(b) Rs.56

(¢) Rs.44

(d) Rs.40

A, B and C completed a work costing Rs.
1800. A worked for 6 days, B for 4 days
and C for 9 days. If their daily wages are
in the ratioof S: 6 : 4, then how much will
be received by A ?

(a) Rs. 800

(b) Rs. 600

(¢) Rs.900

(d) Rs.750

Ajay can do a piece of work in 12 days.
Ajay and Vivek completed the work
together and were paid Rs. 54 and Rs. 81
respectively. How many days must they
have taken to complete the work together ?
(a) 4 days

(b) 4.5 days

(c) 4.8 days

(d) None of these

A, B and C are employed to do a piece of
work for Rs. 575. A and C are supposed to
finish 19/23 of the work together.
Amount shall be paid to B is

(a) Rs.210

(b) Rs. 100

(¢) Rs.200

(d) Rs.475

A man completes 7/8 of a job in 21 days.
How many more days will it take him to
finish the job if quantum of work is further
increased by 50% ? UPSC PT 2021
(a) 24

(b) 21

(c) 18

(d) 15

Time and Work
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Q 30. 24 &Y 30 12 Aiged fordt s =t 30 femi & Q 30.

Q 31.
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FHEHA ¢ | 12 TEW 39K 24 Aizemd st s
frm g e aFa e ?

UPSC PT 2022
(@) 30T

() 30T e

() 30 g w30 i 9 aifees

(d) g ot foreeh foerTem & foTe ger st @

A, B, C 3T6TT- 37T ShIH Sh{d §U fehelt A &l Q 31.

THUIT: 8, 16 3T 12 FEAT A e Hema & | 3TahetT
A HHaR I T AT &, Thell B WA bt
I SHTAT 8, STReAT C AR hi 1T ShdT 8; A
TR R STheTT JeTuTaT ol hIH T & 3T TET
TE AT HA S @A |

UPSC PT 2023
Treafafa sweHt w faar F@ifs:

1. g A JETAER i X & Su |

2. FEHH 10 & & g &1 S|

T U H A BT/ A TR B/ ?

(a) a1
(b) HAA2
© 1322
@ JA19TE2

Time and Work

24 men and 12 women can do a piece of
work in 30 days. In how many days can12
men and 24 women do the same piece of
work ?

UPSC PT 2022
(a) 30 days
(b) More than 30 days
(¢) Less than 30 days or more than 30 days
(d) Datais inadequate to draw any conclusion

A, B, C working independently can do a
piece of work in 8, 16 and 12 days
respectively. A alone works on Monday,
B alone works on Tuesday, C alone works
on Wednesday; A alone, again works on
Thursday and so on.

UPSC PT 2023
Consider the following statements:

1. The work will be finished on Thursday.
2. The work will be finished in 10 days.

Which of the above statements is/are
correct ?

(a) 1only

(b) 2 only

(¢) Both1and 2
(d) Neither 1nor 2




